VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

DIRT BIKE STAND

MODEL: TD-059-02

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only
represents an estimate of savings you might benefit from buying certain tools
with us compared to the major top brands and does not necessarily mean to cover
all categories of tools offered by us. You are kindly reminded to verify carefully
when you are placing an order with us if you are actually Saving
Half in comparison with the top major brands.


https://www.vevor.com/support

W\’I;‘VN:,I!ﬁ DIRT BIKE

STAND

Model: TD-059-02

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



SAFETY PRECAUTIONS

@ Warning - To reduce the risk of injury, user must read instructions
manual carefully.

Read and understand this entire manual before assembling, installing,
operating, or servicing this product. Failure to follow these warnings
and instructions can cause death, personal injury or damage to
valuable property.

Adhere to all Department of Transportation (D.O.T.) requirements
when using this product.

Use common sense when working. Stay alert and concentrate when
setting up and using this product. Never work while under the influence
of alcohol, drugs or medications.

While assembling and using this product keep work area clean and
well lighted. Keep spectators and children out of the work area.

Dress appropriately. Never wear loose fitting clothing or jewelry when
working. Contain long hair, and keep hair, clothing and gloves away
from moving parts.

Always keep this stand away from children.

Check the stand is in good condition before using it.

SPECIFICATIONS

Model Series TD-059-02
Maximum Load Capacity (Ibs) 1200
Support height (inch) 10-18




PRODUCT PARAMETERS

SN Description Qty

0¢ —=—

0 9=

1 Bracket main body 1

2 Kick arm 2
3 Screw M10x75 2
4 Lock nut M10 2
5 Washer d10 4

2 KICK ARM

__— SCREW LOCK NUT

4 Washer and Nut

3 M10 Screw




ASSEMBLY INSTRUCTIONS

1) Install kick arm to stand body with screws.

2) Put on the washers and use tools to screw up the nut.

NOTE

It will be much easier to lift up your bike if you set the top plate to 5mm
lower than your bike's ground clearance.

CAUTION

1) After you set the stand's height, please tighten "Screw lock nut" against
"Lifting Shaft".

2) This Stand's maximum weight capacity is 1200lIbs

3) Don't sit on the bike while it is on the stand.

4) When released, the kick arm will come up fast. Please be careful that
your leg or other body parts do not get caught between the kick arm and
top plate or your bike.

5) After the motorcycle has been lifted, use "Safety hold hook" to help
prevent an unintentional descent.

How to use “Safety hold hook”
o 9 Kick arm

Hook to the pin

/ O Safety hold hook

Figure 2



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

SUPPORT POUR MOTO-DIRT

MODELE : TD-059-02

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.
« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par
nous ne représente qu'une estimation des économies que vous pourriez réaliser en achetant
certains outils chez nous par rapport aux grandes marques et ne couvre pas nécessairement toutes
les catégories d'outils que nous proposons. Nous vous rappelons de bien vouloir vérifier
soigneusement lorsque vous passez une commande chez nous si vous
économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google

VEVOR™ "=

RESTER

Modele : TD-059-02

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ? N'hésitez pas a

nous contacter :
Assistance technique et certificat de garantie
électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les instructions du

manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter clairement notre manuel d'utilisation.
L'apparence du produit dépend du produit que vous avez regu. Veuillez nous excuser, nous ne

vous informerons plus en cas de mise a jour technologique ou logicielle de notre produit.



Machine Translated by Google

PRECAUTIONS DE SECURITE

Avertissement - Pour réduire le risque de blessure, I'utilisateur doit lire les instructions

Lisez attentivement le manuel.

Lisez et comprenez l'intégralité de ce manuel avant d'assembler, d'installer, d'utiliser ou d'entretenir ce
produit. Le non-respect de ces avertissements
et les instructions peuvent entrainer la mort, des blessures corporelles ou des dommages a
propriété de valeur.
Respecter toutes les exigences du ministére des Transports (DOT)
lors de I'utilisation de ce produit.
Faites preuve de bon sens lorsque vous travaillez. Restez vigilant et concentrez-vous lorsque
I'installation et I'utilisation de ce produit. Ne travaillez jamais sous l'influence
d'alcool, de drogues ou de médicaments.
Lors de I'assemblage et de I'utilisation de ce produit, gardez la zone de travail propre et
bien éclairé. Gardez les spectateurs et les enfants hors de la zone de travail.  Habillez-
vous de maniére appropriée. Ne portez jamais de vétements amples ni de bijoux lorsque vous travaillez.
travailler. Contenez les cheveux longs et gardez les cheveux, les vétements et les gants a I'écart
des piéces mobiles.
Gardez toujours ce support hors de portée des enfants.  Vérifiez

que le support est en bon état avant de I'utiliser.

CARACTERISTIQUES
Série de modéles TD-059-02
Capacité de charge maximale (Ib) 1200
Hauteur du support (pouces) 10-18




Machine Translated by Google

PARAMETRES DU PRODUIT

SN Description Quantits 0O =3
1 Corps principal du support 1
2 Bras de coup de pied 2
3 Vis M10x 75 2
4 Contre-écrou M10 2
5 Rondelle d10 4
2 KICK ARM

™

__— SCREW LOCK NUT

3 M10 Screw



Machine Translated by Google

INSTRUCTIONS DE MONTAGE

1) Installez le bras de coup de pied sur le corps du support avec des vis.

2) Mettez les rondelles et utilisez les outils pour visser I'écrou.

NOTE

Il sera beaucoup plus facile de soulever votre vélo si vous réglez la plaque supérieure a 5 mm

inférieur a la garde au sol de votre vélo.
PRUDENCE

1) Aprés avoir réglé la hauteur du support, serrez « I'écrou de blocage de la vis » contre « l'arbre de levage ».

2) La capacité de poids maximale de ce support est de 1 200 Ib

3) Ne vous asseyez pas sur le vélo lorsqu'il est sur la béquille.

4) Une fois relaché, le bras de coup de pied remontera rapidement. Veuillez faire attention a ce que
votre jambe ou d'autres parties du corps ne restent pas coincées entre le bras de frappe et

plaque supérieure ou votre vélo.

5) Une fois la moto soulevée, utilisez le « crochet de maintien de sécurité » pour vous aider

empécher une descente involontaire.

How to use “Safety hold hook”
bl Kick arm

Hook to the pin

Safety hold hook

Figure 2

-4-



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

DIRT-BIKE-STANDER
MODELL: TD-059-02

Wir sind weiterhin bestrebt, Innen Werkzeuge zu wettbewerbsféhigen Preisen anzubieten.
LSparen Sie die Halfte", ,Halber Preis* oder andere ahnliche Ausdriicke, die wir verwenden,
stellen nur eine Schétzung der Ersparnis dar, die Sie beim Kauf bestimmter Werkzeuge bei uns
im Vergleich zu den groRen Topmarken erzielen kénnen, und decken nicht unbedingt alle von uns
angebotenen Werkzeugkategorien ab. Wir méchten Sie freundlich daran erinnern, bei der
Bestellung bei uns sorgféltig zu prufen, ob Sie im Vergleich zu den groRen
Topmarken tatsachlich die Halfte sparen.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® DIRT-BIKE

STAND

Modell: TD-059-02

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Sie haben Fragen zu unseren Produkten? Sie benétigen technischen Support? Dann kontaktieren

Sie uns gerne:
Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgféltig durch, bevor Sie

das Geréat in Betrieb nehmen. VEVOR behaélt sich eine klare Auslegung unserer Bedienungsanleitung
vor. Das Erscheinungsbild des Produkts richtet sich nach dem Produkt, das Sie erhalten

haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut informieren, wenn es Technologie- oder

Software-Updates flr unser Produkt gibt.



Machine Translated by Google

SICHERHEITSVORKEHRUNGEN

Warnung - Um das Verletzungsrisiko zu verringern, muss der Benutzer die Anweisungen lesen

Lesen Sie das Handbuch sorgfaltig durch

y Lesen Sie das gesamte Handbuch sorgféltig durch, bevor Sie das Produkt zusammenbauen, installieren,
bedienen oder warten. Die Nichtbeachtung dieser Warnungen
und Anweisungen kénnen zu Tod, Verletzungen oder Schaden am
wertvolles Eigentum. y
Halten Sie alle Anforderungen des Department of Transportation (DOT) ein
bei der Verwendung dieses Produkts.
y Gehen Sie mit gesundem Menschenverstand an die Arbeit. Bleiben Sie aufmerksam und konzentriert,
Einrichten und Verwenden dieses Produkts. Arbeiten Sie niemals unter dem Einfluss
von Alkohol, Drogen oder Medikamenten. y Halten
Sie beim Zusammenbau und Gebrauch dieses Produkts den Arbeitsbereich sauber und
gut beleuchtet. Halten Sie Zuschauer und Kinder vom Arbeitsbereich fern. y Kleiden Sie sich
angemessen. Tragen Sie niemals weite Kleidung oder Schmuck, wenn
Arbeiten. Halten Sie lange Haare fern und halten Sie Haare, Kleidung und Handschuhe fern
von beweglichen Teilen. y
Bewahren Sie diesen Sténder stets aulRerhalb der Reichweite von

Kindern auf. § Uberpriifen Sie vor der Verwendung, ob der Stander in gutem Zustand ist.

Spezifikationen

Modellreihe TD-059-02
Maximale Tragfahigkeit (Ibs) 1200
Stiitzhshe (Zoll) 10-18




Machine Translated by Google

PRODUKTPARAMETER

SN Beschreibung Menge 0O =3
1 Halterung Hauptkorper 1

2 Trittarm 2

3 Schraube M10x75 2

4 Kontermutter M10 2

5 Unterlegscheibe d10 4

2 KICK ARM

™

__— SCREW LOCK NUT

3 M10 Screw



Machine Translated by Google

MONTAGEANLEITUNG

1) Befestigen Sie den Kickarm mit Schrauben am Standerkorper.

2) Legen Sie die Unterlegscheiben auf und schrauben Sie die Mutter mit Werkzeug fest.

NOTIZ

Es wird viel einfacher sein, Ihr Fahrrad anzuheben, wenn Sie die obere Platte auf 5 mm einstellen
niedriger als die Bodenfreiheit Ihres Fahrrads.

VORSICHT

1) Nachdem Sie die Hohe des Standers eingestellt haben, ziehen Sie bitte die ,Kontermutter* gegen die
,Hubwelle" fest.

2) Die maximale Tragkraft dieses Standers betréagt 1200 Pfund

3) Setzen Sie sich nicht auf das Fahrrad, wahrend es auf dem Stander steht.

4) Beim Loslassen kommt der Kickarm schnell hoch. Bitte achten Sie darauf, dass

lhr Bein oder andere Kérperteile nicht zwischen dem Kickarm und dem

Oberplatte oder lhr Fahrrad.

5) Nachdem das Motorrad angehoben wurde, verwenden Sie den ,Sicherheitshaltehaken®, um
ein unbeabsichtigtes Absenken zu verhindern.

How to use “Safety hold hook”
e Kick arm

Hook to the pin

Safety hold hook

Abbildung 2



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

SUPPORTO PER MOTO DA DIRT

MODELLO: TD-059-02

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.
"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi
utilizzata rappresenta solo una stima del risparmio che potresti ottenere acquistando
determinati utensili con noi rispetto ai principali marchi principali e non significa
necessariamente coprire tutte le categorie di utensili da noi offerti. Ti ricordiamo
gentilmente di verificare attentamente quando effettui un ordine con noi
se stai effettivamente risparmiando la meta rispetto ai principali marchi principali.


https://www.vevor.com/support

Machine Translated by Google

IN PIEDI

Modello: TD-059-02

HAI BISOGNO DI AIUTO? CONTATTACI!
Hai domande sui prodotti? Hai bisogno di supporto tecnico? Non esitare a contattarci:

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Questa ¢ l'istruzione originale, si prega di leggere attentamente tutte le istruzioni del
manuale prima di utilizzare. VEVOR si riserva una chiara interpretazione del nostro manuale
utente. L'aspetto del prodotto sara soggetto al prodotto ricevuto. Vi preghiamo di

perdonarci se non vi informeremo di nuovo se ci sono aggiornamenti tecnologici o software sul
nostro prodotto.



Machine Translated by Google

PRECAUZIONI DI SICUREZZA

@ Attenzione - Per ridurre il rischio di lesioni, l'utente deve leggere le istruzioni

manuale con attenzione.

y Leggere e comprendere l'intero manuale prima di assemblare, installare, utilizzare o effettuare la
manutenzione di questo prodotto. La mancata osservanza di queste avvertenze
e le istruzioni possono causare morte, lesioni personali o danni a
proprieta di valore. y
Rispettare tutti i requisiti del Dipartimento dei trasporti (DOT)
guando si utilizza questo prodotto.
y Usa il buon senso quando lavori. Rimani vigile e concentrato quando
impostazione e utilizzo di questo prodotto. Non lavorare mai sotto I'effetto
di alcol, droghe o medicinali. y Durante il
montaggio e I'utilizzo di questo prodotto, mantenere I'area di lavoro pulita e
ben illuminata. Tenere spettatori e bambini fuori dall'area di lavoro. ¥ Vestirsi in
modo appropriato. Non indossare mai abiti larghi o gioielli quando
lavorando. Contenere i capelli lunghi e tenere lontani capelli, vestiti e guanti
da parti in movimento. y
Tenere sempre questo supporto lontano dalla portata dei

bambini. § Controllare che il supporto sia in buone condizioni prima di utilizzarlo.

SPECIFICHE
Serie di modelli TD-059-02
Capacita di carico massima (libbre) 1200
Altezza di supporto (pollici) 10-18




Machine Translated by Google

PARAMETRI DEL PRODOTTO

SN Descrizione Quantia 0O =3
1 Corpo principale della staffa 1

2 Braccio di calcio 2

3 Vite M10x75 2

4 Controdado M10 2

5 Rondella d10 4

2 KICK ARM

Sy

__— SCREW LOCK NUT

ut \

4 Washer and

3 M10 Screw




Machine Translated by Google

ISTRUZIONI DI MONTAGGIO

1) Installare il braccio di appoggio sul corpo del supporto con le viti.

2) Mettere le rondelle e utilizzare gli utensili per avvitare il dado.

NOTA

Sara molto piu facile sollevare la bici se imposti la piastra superiore a 5 mm

inferiore all'altezza da terra della tua bici.

ATTENZIONE

1) Dopo aver impostato I'altezza del supporto, serrare il "dado di bloccaggio della vite" contro I"albero di
sollevamento”.

2) La capacita massima di peso di questo supporto é di 1200 libbre

3) Non sedersi sulla bici quando & sul cavalletto.

4) Quando viene rilasciato, il braccio di calcio si sollevera rapidamente. Si prega di fare attenzione che
la tua gamba o altre parti del corpo non rimangano incastrate tra il braccio che calcia e

piastra superiore o della bici.

5) Dopo aver sollevato la motocicletta, utilizzare il "Gancio di sicurezza" per aiutare

impedire una discesa involontaria.

How to use“Safety hold hook”
ow to use “Safety hold hoo Kick arm

Hook to the pin

Safety hold hook

Figura 2

-4-



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica www.vevor.com/support

SOPORTE PARA MOTOCICLETA DE TIERRA

MODELO: TD-059-02

Seguimos comprometidos a brindarle herramientas a precios competitivos.
"Ahorre la mitad", "mitad de precio" o cualquier otra expresién similar que utilicemos
solo representa una estimacion del ahorro que podria obtener al comprar ciertas
herramientas con nosotros en comparacion con las principales marcas y no necesariamente
significa que cubra todas las categorias de herramientas que ofrecemos. Le recordamos
que, al realizar un pedido con nosotros, verifique cuidadosamente si
realmente esta ahorrando la mitad en comparacién con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google

PARARSE

Modelo: TD-059-02

¢(NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ; Necesita asistencia técnica? No dude en ponerse en contacto
con nosotros:

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del manual
antes de utilizar el producto. VEVOR se reserva una interpretacion clara de nuestro manual de
usuario. La apariencia del producto estara sujeta al producto que recibié. Perdénenos por no
informarle nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.



Machine Translated by Google

PRECAUCIONES DE SEGURIDAD

@ Advertencia: para reducir el riesgo de lesiones, el usuario debe leer las instrucciones.

Lea el manual con cuidado.

Lea y comprenda todo este manual antes de ensamblar, instalar, operar o realizar tareas de
mantenimiento en este producto. Si no se siguen estas advertencias
y las instrucciones pueden causar la muerte, lesiones personales o dafios a
propiedad valiosa.
Cumplir con todos los requisitos del Departamento de Transporte (DOT)
al utilizar este producto.
Use el sentido comun al trabajar. Manténgase alerta y concentrado cuando
Instalacion y uso de este producto. Nunca trabaje bajo los efectos del alcohol.
de alcohol, drogas o medicamentos. Al
ensamblar y utilizar este producto, mantenga el area de trabajo limpia y
bien iluminado. Mantenga a los espectadores y a los nifios fuera del area de trabajo.
Vistase apropiadamente. Nunca use ropa suelta ni joyas cuando trabaje.
trabajando. Contenga el cabello largo y mantenga el cabello, la ropa y los guantes alejados
de las piezas moviles.
Mantenga siempre este soporte fuera del alcance de los nifios.

Compruebe que el soporte esté en buenas condiciones antes de usarlo.

PRESUPUESTO
Serie de modelos TD-059-02
Capacidad maxima de carga (libras) 1200
Altura de soporte (pulgadas) 10-18




Machine Translated by Google

PARAMETROS DEL PRODUCTO

SN Descripcién Cantdad 0o ===

1 Cuerpo principal del soporte 1

2 Brazo de patada 2

3 Tornillo M10x75 2

4 Tuerca de seguridad M10 2

5 Arandela d10 4

2 KICK ARM

™

__— SCREW LOCK NUT

3 M10 Screw



Machine Translated by Google

INSTRUCCIONES DE MONTAJE

1) Instale el brazo de apoyo en el cuerpo del soporte con tornillos.

2) Coloque las arandelas y utilice herramientas para enroscar la tuerca.

NOTA

Sera mucho mas facil levantar la bicicleta si fija la placa superior a 5 mm.

inferior a la distancia al suelo de su bicicleta.

PRECAUCION

1) Después de ajustar la altura del soporte, apriete la "tuerca de seguridad del tornillo" contra el "Eje de
elevacion".

2) La capacidad maxima de peso de este soporte es de 1200 libras.

3) No te sientes en la bicicleta mientras esté en el soporte.

4) Al soltarlo, el brazo de apoyo se elevara rapidamente. Tenga cuidado.

Su pierna u otras partes del cuerpo no queden atrapadas entre el brazo que patea y

placa superior o tu bicicleta.

5) Después de levantar la motocicleta, utilice el "Gancho de sujecién de seguridad" para ayudar

Prevenir un descenso involuntario.

How to use“Safety hold hook”
ow to use “Safety hold hoo Kick arm

Hook to the pin

Safety hold hook

Figura 2

-4-



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej www.vevor.com/support

STOJAK NA ROWER TERENOWY

MODEL: TD-059-02

Nadal staramy sie oferowa¢ Panstwu narzedzia w konkurencyjnych cenach.
,0Oszczedzaj potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez
nas stanowig jedynie szacunkowe oszczednosci, jakie mozesz uzyska¢, kupujac u nas
okreslone narzedzia w poréwnaniu z gtéwnymi markami i niekoniecznie oznaczajg one
objecie wszystkich kategorii oferowanych przez nas narzedzi. Uprzejmie przypominamy,
aby przy sktadaniu zaméwienia doktadnie sprawdzi¢, czy faktycznie
oszczedzasz potowe w poréwnaniu z gtéwnymi markami.


https://www.vevor.com/support

Machine Translated by Google

V EVOR ® MOTOCYKL TERENOWY

PODSTAWKA

Model: TD-059-02

POTRZEBUJESZ POMOCY? SKONTAKTUJ SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie z nami:

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczyta¢ wszystkie

instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukcji obstugi. Wyglad
produktu bedzie zalezat od produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie
poinformujemy Cie ponownie, jesli w naszym produkcie pojawig sie jakiekolwiek aktualizacje
technologiczne lub oprogramowania.



Machine Translated by Google

SRODKI OSTROZNOSCI

@ Ostrzezenie - Aby zmniejszy¢ ryzyko obrazen, uzytkownik musi przeczyta¢ instrukcje

instrukcje uwaznie.

Przed montazem, instalacjg, obstugg lub serwisowaniem tego produktu nalezy przeczyta¢

i zrozumie¢ catg instrukcje. Nieprzestrzeganie tych ostrzezen
i instrukcje mogg spowodowac Smier¢, obrazenia ciata lub uszkodzenie
wartosciowy majatek.

Przestrzegaj wszystkich wymogoéw Departamentu Transportu (DOT)
podczas stosowania tego produktu.

Podczas pracy stosuj zdrowy rozsgdek. Zachowaj czujnos¢ i koncentracje, gdy
konfigurowanie i uzywanie tego produktu. Nigdy nie pracuj bedac pod wptywem
alkoholu, narkotykéw lub lekow.

Podczas montazu i uzytkowania tego produktu nalezy utrzymywac miejsce pracy w czystosci i
dobrze oswietlone. Trzymaj widzéw i dzieci z dala od miejsca pracy.  Ubierz
sie odpowiednio. Nigdy nie zaktadaj luznej odziezy ani bizuterii, gdy
pracujace. Trzymaj dtugie witosy, ubrania i rekawice z dala od
od ruchomych czesci.
Zawsze trzymaj stojak poza zasiegiem dzieci.  Przed

uzyciem sprawdz, czy stojak jest w dobrym stanie.

SPECYFIKACJE
Seria modeli TD-059-02
Maksymalna tadowno$¢ (funty) 1200
10-18

Wysokos$¢ podparcia (cale)




Machine Translated by Google

PARAMETRY PRODUKTU
SN Opis Tlos¢ 0o ===
1 Gtéwny korpus uchwytu 1
2 Kopnigcie ramienia 2
3 Sruba M10x75 2
4 Nakretka zabezpieczajaca M10 2
5 Podktadka d10 4

™

2 KICK ARM

__— SCREW LOCK NUT

3 M10 Screw




Machine Translated by Google

INSTRUKCJA MONTAZU

1) Przymocuj ramie koparki do korpusu stojaka za pomocg $rub.

2) Zatéz podktadki i przykre¢ nakretke za pomoca narzedzi.

NOTATKA

Podniesienie roweru bedzie o wiele tatwiejsze, jesli ustawisz gérng ptyte na 5 mm

nizszy niz przeswit Twojego roweru.

OSTROZNOSC

1) Po ustawieniu wysokosci stojaka nalezy dokreci¢ nakretke zabezpieczajgcg $ruby do watu
podnoszacego.

2) Maksymalna nosnos¢ tego stojaka wynosi 1200 funtéw

3) Nie siadaj na rowerze, gdy jest on umieszczony na stojaku.

4) Po zwolnieniu ramie kopniecia szybko sie podniesie. Prosze uwaza¢, aby

Twoja noga lub inne czesci ciata nie zostang uwiezione miedzy ramieniem kopigcym a
g6rng ptyte lub rower.

5) Po podniesieniu motocykla nalezy uzy¢ ,haka bezpieczenstwa”, aby utatwi¢ podnoszenie.
zapobiec przypadkowemu zjezdzie.

How to use “Safety hold hook”
e Kick arm

Hook to the pin

Safety hold hook

Rysunek 2

-4-



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

DIRT BIKE STAND

MODEL: TD-059-02

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Save Half", "Half Price" of andere soortgelijke uitdrukkingen die wij gebruiken, geven alleen
een schatting weer van de besparingen die u kunt behalen door bepaalde gereedschappen bij ons
te kopen in vergelijking met de grote topmerken en betekent niet noodzakelijkerwijs dat alle categorieén
gereedschappen die wij aanbieden, worden gedekt. Wij herinneren u eraan om zorgvuldig te
controleren of u daadwerkelijk de helft bespaart in vergelijking met de grote
topmerken wanneer u een bestelling bij ons plaatst.


https://www.vevor.com/support

Machine Translated by Google

VEVOR

STELLAGE

Model: TD-059-02

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust
contact met ons op:

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door voordat u het product
gebruikt. VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding voor.
Het uiterlijk van het product is afhankelijk van het product dat u hebt ontvangen. Vergeef ons

dat we u niet opnieuw zullen informeren als er technologie- of software-updates voor ons product

zijn.



Machine Translated by Google

VEILIGHEIDSMAATREGELEN

@ Waarschuwing - Om het risico op letsel te verminderen, moet de gebruiker de instructies lezen

handleiding zorgvuldig door.

y Lees en begrijp deze hele handleiding voordat u dit product monteert, installeert, bedient of
onderhoudt. Het niet opvolgen van deze waarschuwingen
en instructies kunnen de dood, persoonlijk letsel of schade aan uw kind veroorzaken.
waardevolle
eigendommen. y Voldoen aan alle vereisten van het Department of Transportation (DOT)
bij gebruik van dit product.
y Gebruik gezond verstand tijdens het werken. Blijf alert en concentreer je wanneer
het instellen en gebruiken van dit product. Werk nooit onder invioed
van alcohol, drugs of medicijnen. y Houd
tijdens het monteren en gebruiken van dit product de werkplek schoon en
goed verlicht. Houd toeschouwers en kinderen uit de buurt van het werkgebied. y
Kleed u gepast. Draag nooit loszittende kleding of sieraden wanneer
werkend. Houd lang haar tegen en houd haar, kleding en handschoenen uit de buurt
van bewegende
onderdelen. ¥ Houd deze standaard altijd buiten bereik van

kinderen. y Controleer of de standaard in goede staat verkeert voordat u deze gebruikt.

SPECIFICATIES

Modelserie TD-059-02
Maximale draagkracht (Ibs) 1200
Ondersteuningshoogte (inch) 10-18




Machine Translated by Google

PRODUCTPARAMETERS
SN Beschrijving — 0 =3
1 Beugel hoofdlichaam 1
2 Schop arm 2
3 Schroef M10x75 2
4 Borgmoer M10 2
5 Ring d10 4

2 KICK ARM

™

__— SCREW LOCK NUT

3 M10 Screw



Machine Translated by Google

MONTAGE-INSTRUCTIES

1) Bevestig de schoparm met schroeven aan de standaard.

2) Plaats de ringen en gebruik gereedschap om de moer vast te draaien.

OPMERKING

Het zal veel gemakkelijker zijn om uw fiets op te tillen als u de bovenplaat op 5 mm instelt
lager zijn dan de bodemvrijheid van uw fiets.

VOORZICHTIGHEID

1) Nadat u de hoogte van de standaard hebt ingesteld, draait u de "schroefborgmoer"” vast tegen
de "hefas".

2) Het maximale draagvermogen van deze standaard is 1200 Ibs

3) Ga niet op de fiets zitten terwijl deze op de standaard staat.

4) Wanneer losgelaten, zal de schoparm snel omhoog komen. Wees voorzichtig dat

uw been of andere lichaamsdelen niet tussen de schoparm en

bovenplaat of uw fiets.

5) Nadat de motorfiets is opgetild, gebruikt u de "Veiligheidshaak" om

een onbedoelde afdaling te voorkomen.

How to use“Safety hold hook”
ow to use “Safety hold hoo Kick arm

Hook to the pin

Safety hold hook

Figuur 2

-4-



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

DIRT CYKELSTALL
MODELL: TD-059-02

Vi fortsatter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara halva", "halva priset" eller andra liknande uttryck som anvands av oss
representerar bara en uppskattning av besparingar du kan dra nytta av att kdpa vissa
verktyg hos oss jamfort med de stora toppmérkena och betyder inte nédvandigtvis att tacka
alla kategorier av verktyg som erbjuds av oss. Du pdminns om att noggrant kontrollera
nar du gor en bestallning hos oss om du verkligen sparar halften i
jamforelse med de framsta varumarkena.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® DIRT BIKE

STA

Modell: TD-059-02

BEHOVER HJALP? KONTAKTA OSS!
Har du produktfragor? Behover du teknisk support? Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

SAKERHETSATGARDER

Varning - For att minska risken for skada maste anvandaren lasa instruktionerna
handbok noggrant.

y Las och forsta hela denna manual innan du monterar, installerar, anvander
eller servar denna produkt. Underlatenhet att folja dessa varningar
och instruktioner kan orsaka dodsfall, personskada eller skada pa
vardefull egendom.

y Folj alla krav fran Department of Transportation (DOT).
nar du anvander denna produkt.

y Anvand sunt fornuft nér du arbetar. Var alert och koncentrera dig nér
installera och anvanda denna produkt. Arbeta aldrig under paverkan
alkohol, droger eller mediciner. y

Under montering och anvandning av denna produkt hall arbetsomradet rent och
val upplyst. Hall &skadare och barn borta fran arbetsomradet. y Kla

dig lampligt. Bar aldrig I0st sittande kl&ader eller smycken nér
arbetssatt. Innehall Iangt har och hall har, klader och handskar borta
fran rorliga delar. y

Hall alltid detta stativ borta fran barn. y Kontrollera

att stativet ar i gott skick innan du anvander det.

SPECIFIKATIONER

Modellserie TD-059-02
Maximal belastningskapacitet (Ibs) 1200
Stédhojd (tum) 10-18




Machine Translated by Google

PRODUKTPARAMETRAR
SN Beskrivning Antal Oe =2
1 Faste huvudkropp 1
2 Sparka arm 2
3 Skruv M10x75 2
4 Lasmutter M10 2
5 Bricka d10 4

2 KICK ARM

™

__— SCREW LOCK NUT

3 M10 Screw



Machine Translated by Google

MONTERINGSINSTRUKTIONER

1) Montera sparkarmen pa stativkroppen med skruvar.

2) Satt pa brickorna och anvand verktyg for att skruva fast muttern.

NOTERA

Det blir mycket lattare att lyfta upp din cykel om du stéller in toppplattan pd 5 mm
lagre &n din cykels markfrigang.

FORSIKTIGHET

1) Nar du har stéllt in stativets hojd, dra at "Skruva lasmutter" mot "Lyftaxel".

2) Detta stativs maximala viktkapacitet ar 1200lbs

3) Sitt inte pa cykeln medan den star pa stativet.

4) Nar den slapps kommer sparkarmen snabbt upp. Var forsiktig med det
ditt ben eller andra kroppsdelar inte fastnar mellan sparkarmen och
toppplatta eller din cykel.

5) Efter att motorcykeln har lyfts, anvand "Sakerhetshallkrok" till hjalp

férhindra en oavsiktlig nedstigning.

How to use“Safety hold hook”
ow to use “Safety hold hoo Kick arm

Hook to the pin

Safety hold hook
Pin



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

